TOURATECH

ATOURWG RALLYE RACING TECHNOLOGY

09-040-157X-1 Installation Instructions

Large Spoilers for Hand Guards

Contains:

1 x Spailers for hand protectors (pair)
4 x Screw dome head Phillips M4x12
4 x Nylock nut M4

4 x Washer large M4

4 x Washer M4
4 x Spacers 7,4,4 ‘

INnstallation:

b

=

=]
=

[—

(=]
n
n
(g}

R,

The spoilers are aftached on the hand guards as shown on photos. Insert the tab in the middle of
the lower edge of the spoiler info the hole on the hand guard.

Set two screws dome head Phllips M4x12 per spoiler with washer M4 under the screw head from
the front or outside. Set then the spacers from the back or inside and large washer M4and
fighten with nylock nuts.

These instructions are at our current level of knowledge. Legal requirements do not exist. Technical issues subject to change.



